SMB46 Mounting Brackets

the photoelectric specialist Stainless steel mounting brackets for Banner Sensors

- SMB46L

“L” bracket

Model SMB46L

Features

* Rugged stainless steel mounting

brackets available in three styles:

- Basic right angle “L” bracket

- “S” bracket offering lens
protection

- “U”-shaped hat bracket offering
protection for all sides of
Sensor

Mounting hole pattern

accomodates the following

SEnsors:

- MINI-BEAM®

PicoDot"

- Q14

- Q23

- QH23

- QM42

Material: 316 Stainless Steel 1.85 mm (14 ga)

96.5 mm (0.26 in) (6x)

Bracket Assembly p/n 48747 Y EE—
Hardware packet (included) contains two each of [\
the following:
For sensor mounting: - M3 x .5 x 20 mm Screw o 65 mm
- M3 x .5 Hex Nut D (26in)
- M3 Flat Washer é
- M3 Split Lock Washer
For bracket Mounting: - M6 x 1 x 12 Screw 4
- M6 x 1 Hex Nut J
- M6 Flat Washer 2mm 97 mm
- M6 Split Lock Washer (1 i) RREDNE
Printed in USA P/N 48749




SMB46 Mounting Brackets

SMB46S

“S” bracket
Material: 316 Stainless Steel 1.85 mm (14 ga)

34 mm
<—(1.3qlin)“’
ormy lorn— ,
. B : _*_[(6.121?;)
027 = S 15mm?
- N L L..08m
6 mm T N i
: (02in) / ’ NS 936 mm (1.41n)
Model SMB46S 5mm (0.2in) (4x o 96,5 mm (0.26 in) (6x)
Bracket Assembly p/n 48748 S
Hardware packet (included) contains two eachof
the following: f] %
For sensor mounting: - M3 x .5 x 20 mm Screw o
- M3 x .5 Hex Nut G D (6256"}[{;
- M3 Flat Washer '
- M3 Split Lock Washer % = 4
For hracket Mounting: - M6 x 1 x 12 Screw g 4
- M6 x 1 Hex Nut ) 2o Lﬂ ’L
- M6 Flat Washer 2 (Tin) .16 M|

(1.1in)  (0.6in)

- M6 Split Lock Washer

SMB46U

“U” bracket

Material: 316 Stainless Steel 1.85 mm (14 ga)

e |21

(©05in) | = ; S
0.14i
oo T__CD_ﬁ*JJ )
(0.2in) 7 ; N 15 mm
D L R | e
TG

f [ | ¥
6 mm }—_ ¢ i -
©2in) / ; :&\ 936 mm (1.41n)
Model SMB46U 5mm (0.2 in) (4x) 8 mm tesy 6.5 mm (0.26 in) (6x)

03 |16 mm 16mm
mi,_ (0.6 in)
Bracket Assembly 48746 S —
Hardware packet (included) contains two each of %} %
the following: o S
For sensor mounting: - M3 x .5 x 20 mm Screw 0 0 Al
- M3 x .5 Hex Nut
- M3 Flat Washer % = é
- M3 Split Lock Washer 4 ,
For bracket Mounting: - M6 x 1 x 12 Screw ' meJ o
- M6 x 1 Hex Nut T (i) rhites
- M6 Flat Washer e

- M6 Split Lock Washer

page 2 Banner Engineering Corporation




SMB46 Mounting Brackets

PicoDot™ Mounting Configurations ~ . 023 Mounting Configurations

QM42 Mounting Configurations o  QH23 Mnunting Configurations

MINI-BEAM® Mounting Configurations ‘ Q14 Mounting Configurations

Banner Engineering Corporation page 3




SMB46 Mounting Brackets

®
B AN N EIXR

the photoelectric specialist

Banner Engineering Corp., 9714 Tenth Ave. No., Minneapolis, MN 55441  Telephone: (612) 544-3164  FAX (applications) (612) 544-3573




